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Part A
§ Answer all the questions.

 Define the terms ascending and de_scending nodes.

‘What is a geostationary orbit ? -
What is polaﬁza’tion isolation ?
Define saturatlon flux density.

What isa C band ? Name two apphcatlons usmg € band. : iy
(5 x 2 = 10 marks) -

PartB
_ , Answer any four'ques'tions.
State Kepler’s laws. =
Write notes on launch vehicles.
Briefly discuss on transponders. _
An uplink at 14 GHz requires a saturation flux density — 91.4 dBW/m? and an inpﬁt bé_lck-oﬁ' v

~ 11 dB. The satellite G/T is — 6.7 dBK™!. Find the carrier-to-noise density ratio.

Write bneﬂy about home TV and d1g1ta1 DBS.

Explain on GPS. :
S (4 x 5 = 20 marks)
Part C ‘
. ~ Answer all the questions.
(a) Explain in detail about laimching of a satellite.
Or

(b) Discuss the effects of doppler shift, solar echpse and sun transit outage on the performance of ‘
asatellite commumcatlon system. ‘
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14.

15.

e = C 41242
(a) Ekplain about telemetry, tracking and command systéni.
' - : 2 or :
(b) Explam in detail antenna subsystem.

(a) () Discuss and derive the expression for combined uplink and downline carrier-to-noise ratio.
(i) Deriye the transmission equation. :
7 . . : Or
(b) Derive the expression 6f 6vera1_1 sys‘tein noise tempera,tul;e;:
(a) “Discuss, in detail, about various mulfiple access systems.
- = | = , | & =

(b) Discuss, in detail, about VSAT systems. =

» : ' ' (4 x 10 = 40 marks)




